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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will resuit in zero mark in that question.
The half-life of a certain fz.tgudg/tﬁ&‘@,iy'futméLJm;;; - LIS AT TAL (1 -1

isotope is one day. What is the quantity 9f isotope after two days :

One-quarter ({32 (1 (B) One-half Z_Ls( 57 (A)
None of these u.?/é:’/c_cj.’u! (D) One-eighth /178 (C)
The turn ratios of a transformer is 10. It means : 1Y 110 o’ J u)/g L Y2121 y 2
=l @ Nemon, 0w =Nl -0, g
To make burglar alarm we use : Lyt S U 4. Ll (U7 /gf 3
NAND gate & % (D) NOR gater ./t (C) ORgate & 07 (B) NOTgate 2Jet (A)
The relation between v, f and A of a waleis - fe Jw U L p’%’; ulu'”:').'.//' ‘ J’U: d/ 1 ..g 4
v=%/ (D) 2v=Fc) fi=v (B) vf =2 ()
Which refers to computer programmes and the manuals... : Jr Fo L S ' e o] /Uj{ /ﬁ::g.{ 5 .
that support them : : .
Information /=31 (D) Software zs23- (C) Hardware 735/ (B) Data &3 (A)
The loudness of a sound is most closely related to its : R 1V ‘/( A 7wl uﬁ';su d/ #5016
Amplitude s (jfff (D)  wavelength é‘%’) (C) Period 4z iB) Frequency W:g/ (A)
Which compound is used for diagnosis of brain tumor : ‘gmdb&’lfci x{ l/ufé.idu L’:’d/ dnJ ét; 7
N-152 (D) H-3 (C) 1131 (B) P-32 (A)
Capacitance is defined as : ' fe L;Z(o J Z,/’ J! -gj/’.’. J ‘/f‘w_t.f 8
%% © % © av (@) Ve (A)
Image formed by a camera is e &w ” & G’ (‘-fl £ ,/f 9

Virtual, upright and diminished d}{%;}'u’(<J;;u (B) Real, inverted and diminished d;‘.';.’o/.mu“’ldf/ (A)
Real, inverted and magnified d‘/.:,‘»f/;!é}lqﬁ/ (D) Virtual, upright and magnified d‘/.o‘awlfg‘gf;;u ©)

The logical operation performed by this gate is : Aﬂ te b J"b gﬁ{.l’ ..EU L U!'/ = J J1110
8 X

OR /T (D) AND %! (C) NOR Jt (B) NAND %z (A)

What happens to the intensity or : ;.t"{.J)y%aﬁd/é%)d/ufci./:?L’aiu.‘f:’p‘“d/u:}fé‘:z_fﬁc.Zﬁ.}’é'{/ 11
the brightness of the lamps connected in series as more and more lamps are added :

Decreases <".,d}1' (B) Increases < bnilel (A)
Cannot be predicted ‘adﬁ’tt& (D) Remains the same t‘zu.‘fcj/df C)

From which of the following we can get information : q{é/fbﬁwl‘f@/’/;v TC,LA'_QI:QJ__}.?JA? 12
almost about every thing :
Internet &2#1 (D) Computer /‘,g,.‘/ (C) Teacher 501 (B)  Books (AU (A)
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10 2. Write short answers to any Five (5) questions : : égwf‘{f.guw (5) é‘u P= Jf -2
(i) Define time period and frequency. ' -é J/’ J g 53 Y P (’tf 0)

(i) If 100 waves pass through _5“}” g ; /J,f!»’u,wd;/’u' 20 sec c.....w’:’.f Lf' 4745 100 /f (ii)

a point of a medium.in 20 seconds. What is the frequency of the waves?
(i) Think of several examples of U eleor® Sirbrn iz o eI v i m (i)
motion in every day life that are simple harmonic motion.
(iv) Write some uses of capacitors. Ll Je1 Z / (iv)
(v) Write two characteristics of series combination of capacitors. -& ca.l,er"»d/ IRy £} ﬁfr/ v)
(vi) What is difference between fixed capacitor and variable capacitor? ?4"_&/"9‘1}.’.' ‘/5( S 09 }'j"/ 55 (vi)

(vii) What is the difference between cell and battery? fe S L SE o (vii)
(viil) Define resistance and write its-Gnit. Lo LK U “5': _g//‘." d/ 4,{:""/)/ (viii)
10 3. Write short answers to any Five-(5) questions : e W/‘"'."Z.’.umr (5) é,l; P Jf -3

(i) Define loudness of sound. v:.dn&yufu*m:,z_uv UL/, -é..ﬂ/’d/gf' :UJJ';T (i)
How does it change with the increase in amplitude?

(i) How can you reduce the level of noise poliution? S £ /S H/ d! .’.T e J»’ 7 d/ 2 (i)

(iii) What is meant by sonar (sound navigation and ranging)? fe sty L/ < (sonar) s (iii)
(iv) What is difference between data and information? fe a/ l[ 3 < u%lu' s &3 (iv)
(v) How are light signals sent through optical fibre? S 2: d._/ 2.3 ) 1 GJQZ"T ' }'z.‘/’ﬂ v)
(vi) What is the difference between hardware and software? S J/ y’ e &y sl 7zassy (Vi)
(vii) Define atomic number and mass number. _g':r -2 /7 J /‘.'}J b sl /J Cf (vii)
(viii) How can the scientist estimate dead tree St & tﬂzg a)leJu»gu/c_dbz“!ﬁ C-14 YL (viii)
age by C-147?
10 4. Write short answers to any Five (5) questions : : a’aytz/ﬂéaw (5) ég P Jf -4
(i) Define power of iens, also write its formula. -Z‘F Ul 1 sl __é ..gji J J)£ d/ /:.‘ 0]

(ii) According to sign conventions °wlbi&:’¢}bﬂﬂ5£,’)‘u" J//gﬁ-/é”&l&fﬁ.ouk,”/ (ii)
when object distance are taken positive and negative in spherical mirror.

(iii) Describe the principle focus of a convex lens -é 5 Iy & rifu;;/ f J/ I J// X /J u’( s (iii)

by ray diagram.

(iv) Write two uses of logic gates. ..5‘5 {f J&1 09 £ gf:f LU (iv)
(v) Draw the symbol of NOT gate and also write its truth table. &k J” Gl ed et (v
(vi) Define the term thermionic emission. ' -5";( _4,//;" d/ S Jx‘} (vi)
(vii) Write working principle of electric motor. & Jrik S ¥ e J}g I (vii)

. z . ol o 7 . aee
(viii) What is right hand rule to -&’_U/Jr‘igp’g,u: bééd__/()”a(f/‘;’u@gzigﬂ);b/:ff..g (viii)
determine the magnetic poles of a current carrying coil?

( i’g}n )




)

Note : Attempt any TWO questions.

1,1,2

(2)
L L/%ﬁ(/hw (PART-IL (5 2 )
&L el £ ety » e (;f 0%
E L SE PSP S Y nZ S B SesipSe Py () -8

5. (a) What is meant by refraction of wave? Explain the refraction of water waves diagrammatically
' by using ripple tank. '

e Vitre GBS 1NV e B byl e 2HF L 61 23 EE SR p (L)
(b) Two cap;cifors of capacitances vg‘:’/(}"‘w"ﬂ J”'f:_’{ f})//; _sif.:()”’uzf u’.f'{f;l/d?ﬁu’ !

644 F and 12 14 F are connected in series with 12V battery. Find the equivalent capacitance
of the combination. Find the potential difference across each capacitor.

6. (a) Explain transmission of radio waves through space. -._é_vwd/ u’f)!/'c_u-'.' Uﬁd/Jg:;j;:/ () -6

WKl L S22 Aok 1.5km et —JF 35cm sl 2KHzZ A F o S sl (L)

(b) A sound wave has a frequency of 2KHz and wavelength 35cm. How long will it
take to travel 1.5km?

7. (a) Whatis an electron gun? How doeés.it work in CRO?jg‘j;é?L})J(KLJ iU~ CRO "g.l[g/i}:f‘g (i) - 7
2br 2 AL g 5l 20V SISS Ay N1 e 1:100 e Sus Bt P il (&)

(b) A step up transformer has turn ratio 1:100. An"alternating supply of 20 V __éph” é’isdj}:é?
is connected across the primary coil. What is the-secondary voitage?

210-024-I-(Essay Type)-108000
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which among the following radiations has more penetrating power : : 9»:&/’»&.’@/‘&}‘[‘,/ = U~ '/"s-'ldéjd‘” 5ok {1 -1
An alpha particle fzglﬁ” (C) A gamma ray oA (B) A beta particle gf’:!‘:l}; (A)

All have the same penetrating ability +&ﬂdg.,gq>WJL/fc,4_:LJrl7 (D)

The direction of induced emf jn a circuit is in * &< Jn Jdbr £ w9k Jf o ...‘// e § EI I Ay k1|2

accordance with conservation of

Charge (bl o 96L 7L tile (B) - Mass F LI L P LUl ()
Energy &WLUJG’&J""»}’KL é/t (D)  Momentum &Wéu]@ﬁﬁuf/ﬁ f“"f (C)

Farsightedness can be corrected by using : le l:ﬁ b L.'f ug; s (5/"' 213
Converging mirror ;J/ua@./}'f (B) Diverging mirror ;J/Vé‘ufﬁ (A)
Converging lens & H _Gsd (D) Diverging lens & AL (C)
Wave transfers : te d/ J‘a 4114
Velocity (s (D)  Wavelength p?%‘; (G)~ - Frequency u‘*-,f/ (B)  Energy &/ (A)
We can see sound waves by using : 401 * a{: s ifs k3L (7 5
b > 7
Stethoscope .;P W= (D) Oscilloscope .1:@(5' (C) Telescope ..,oc& (B) Microscope b’a’cﬁf L (A)
Which is an example of longitudinal waves : - Jt“? J Jds Jﬁé-fg’ 6

Water waves Lj;d/ d& (D) Radio waves J#2¢4s (C) Light waves }g:JG}u (B) Sound waves s k5L (A)

%o %0

In case of simple pendulum which component of . ‘¢b‘/,/' ng}vé;"}') b‘«.‘}! l/uf Kism :,/ﬂu{ﬁ}z;nlz 7
weight acts as restoring force :

mg cosec € (D) mgsec 6 (C) mg cos 8 (B) mg sinf@ (A)
A positive electric charge : Dem s Ll J/'g b sy ..g 8
g 3 b ’&& » ¥
Repels other positive charge 5..t/ 2o Gulesiy (B)  Attracts other positive charge r‘.t’/u";( Loy (A)
Repels a neutral charge c‘_t'/ 2%k Zngdf‘xi (D)  Attracts a neutral charge c“_t'/(j}g( bjgd/‘xi (©) H

Which of the following quantity is not de S J& Ao of e U i g £ S Fslo

changed during refraction of tight :

(e

Its speed j;{d/d I (B) its direction G-’/L«(J 1 (A)
its frequency 6’"{/&/ I (D) Its wavelength é’%‘,:(fd I (C)

AND gate can be formed by using two : I‘LGﬁ nJ"’b ¢4.¢§f u’f :/,,'/ Jl ¥ L[)/ Jla'*"" u*"'f » e u[ 10
NOR gates u”"{t (D) NAND gates J!ig (C) OR gates u”'{f (B) NOT gates u{bt (A)
What is the power rating of  © #fumrid 2.5A ;u:uLéfng’ a}&,ng,gefé,iz:,wr£1zv 11

lamp connected to 12 V source when it carries 2.5 A current :
60 W (D) 30W (C) 14.5W (B) 4.8W (A)

The brain of any computer system is - % f/t: ¥ (L/ /'z:;‘/ Lf/ Lf( 12
Control unit w41~ (D) Memory $#% (C) C.P.U. yd U (B)  Monitor ¥ (A)
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10 2. Write short answers to any Five (5) questions : : Z.‘!@&Lr‘r/‘”?éwulr (5) é& < Jf -2
(i) Define simple harmonic motion. -é J/‘." J u%" Jn J” (i)
(i) How damping progressively reduces fe d/ 1; ..’_"'/ ézy ”,o&/ Y L u’J u’:! 5 (i)
the amplitude of oscillation?
(iii) What is the difference between cell and battery? fe J/ gf K e Jf (iii)
(iv) State Coulomb's law. - Uk UG ¥ i (iv)
(v) Define electric potential and write its unit. 2 < K U1 ._Z:/ - /7 J J’"’f;‘ J/‘gl (v)

S S pF e itre 3 ppe 812V G pEL 12 uF 56 uF (vi)
(vi) Two capacitors of capacitance 6 uF and 12 uF are connected in parallel with a 12 volt battery.
Find their equivalent capacitance.
(vii) Why do the electric current’cannot pass through insulator? ?t'/fuf."'u::( 5y J}’? e m ﬂr” (vii)

(viii) Define specific resistance and write its unit. -é 2 6 JI ol “é ..g/‘" J u"‘p)/ ..Gr{ (viii)
10 3. Write short answers to any Five (5) questions : : ZJ:«W/"Z:—UV (5) ég P Jf =3
(i) What is meant by intensity of sound? Write its unit. -é’/..‘/}j K U1 S o1y Lf e k5L J7 M (i)
(ii) Write the audible frequency range of bats afid rats,.ég»»({ RE £ J S Tt e ung st HEz (i)
(iii) What is meant by echo? Write its one use. -é JiE V{! § Ut fe slp y’ & Cf (iii)
(iv) What s the relation between information S Y Jﬁ L E i gaa” Jf 2 GG S (iv)

technology and telecommunication?
(v) What do you know about INTELSAT and SATCOM?S_t &l lfutfg./gé SATCOM s/ INTELSAT ._;T v)
(vi) What is difference between hardware and software? et 3/ y’ B T Jaassy (Vi)

(vii) How can we find the need of phosphate Ut é/(}i” L}ﬁ/}/&b{.‘.{" Ge’.cﬁ;:{j bg‘/? (vii)
fertilizer for a plant?

(viii) How can we monitor the thyroid gland “u‘é/ C}’ g,/ ..f// J ,«f Kuyd () (}L—’l (" (viii)

in the human body?

10 4. Write short answers to any Five (5) questions : e iy 5) 8y = O -4

(i) State the laws of refraction of light. -é /; u" 19 L ui( ) b( Jéu 0]

(ii) Describe the types of reflection with diagraﬁ. -Z ok (Ul J osald, 25 r ('f LIs (i)

(iii) How the focal length is related to the radius of curvature? ‘< ub' quﬁuﬁ ] K/;f-,-/u :J%ww‘" fi (iii)

(iv) Wﬁat does magnetic field lines show? Explain. -é{ oloy S 3/ b lf ?IU iy JZV«O (iv)

(v) Differentiate between step-up and step-down transformer. -é:( Z: I J A //W'l/‘ufﬁ_(}‘ s .;'.,—_ﬁ’ (v)

(vi) State the principle of an A.C generator. -gf_f 0]% Jr‘i ¥ 22 G-t (Vi)

(vii) Define thermionic emission. -é _.9!/‘7 J u’-"ff J}:‘/? (vii)

(viil) Show that the circuit given -4_(3):)2/)[..:,_{’ f«gu}égf_.}@ﬂféyu: (viii)

below acts as AND gate. AP—
(ﬁlu/:) "_:D—Y
B
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Note : Attempt any TWO questions. L CHAT 4 Lelyne Jf %)
-Lb‘fﬂ/b’b /J”édl/uLL""’(‘J/JJCZG/}’&&)// () 5

4
! 5. (a) Write down the characteristics of series combination of resistors with circuit diagram.
¥ 2 B N
5 g=10ms™" . ,ﬁg‘:’/p"”du&ﬂ -g,b’/v{)f 28 ﬁ/: I;Vgﬁ:ﬁ_;ul/ug (—,)

(b) A simple pendulum completes one vibration in two seconds.
Calculate its length, when : g = 10 ms

1,1,1,1 6. (a) Write name of any four parts -é&u,Juwaﬂ't&uﬂgééﬁﬁ‘ff/ww}g{ () -6
of computer based information system and explain them.
Losd F 1B E i §t S18-0 - JU5730 TS 1a-ik (L)
?Sé » JKJ) .":’) L’:f QJ_ L

(b) Carbon-14 has a half-life of 5730 years. How long will it take for the quantity of carbon-14
in a sample to drop to one-eighth of the initial quantity?

4 7. (a) Define nuclear fusion‘and explain it. -"é =22y sl “é .,y/7 d/ cJJ"x’: ﬁg.’. (I 7

L L SE LoiE 15 1 o pFF 35 5 2KHz SIS (L)
vt sl

5

' (b) A sound wave has a frequency of 2 kHz and wavelength of 35 cm. How long will
it take to travel 1.5 km?

211-024-ll-(Essay Type)-89000

kv




